Agenda Report



2725 Judge Fran Jamieson Way Viera, FL 32940

Consent

5/20/2025 F.12.

Subject:

Approval; Re: Purchase of Six (6) Stryker Power Load Systems and Stretchers

Fiscal Impact:

\$397,667.78 is identified and accounted for in the department's FY 2024-25 budget.

Dept/Office:

Public Safety Group: Brevard County Fire Rescue (BCFR)

Requested Action:

Request the Board of County Commissioners approve the purchase of six (6) Stryker power load systems and six (6) Stryker stretchers for a total cost of \$397,667.78. Additionally, request the Board to delegate to the County Manager, authority to execute and approve budgetary change requests, administrative actions, or any documents necessary to complete this purchase.

Summary Explanation and Background:

The Stryker Power Load Systems and Stretchers were not included in the original order of six rescue units. BCFR is requesting approval to purchase six power load systems and stretchers. The funds required to purchase these systems are included in the FY 2024-2025 approved Fire Rescue budget for vehicles.

Upon approval and placement of the order, the Department anticipates receipt and installation within six months. These Stryker systems are consistent with those currently in use across all BCFR rescue units and are required to meet operational and safety standards.

Clerk to the Board Instructions:

None



FLORIDA'S SPACE COAST

Kimberly Powell, Clerk to the Board, 400 South Street • P.O. Box 999, Titusville, Florida 32781-0999

Telephone: (321) 637-2001 Fax: (321) 264-6972 Kimberly, Powell@brevardclerk, us



May 21, 2025

MEMORANDUM

TO: Chief Patrick Voltaire, Fire Rescue Director

RE: Item F.12., Approval of Purchase of Six (6) Stryker Power Load Systems and Stretchers

The Board of County Commissioners, in regular session on May 20, 2025, approved the purchase of six (6) Stryker power load systems and six (6) Stryker stretchers for a total cost of \$397,667.78; and delegated authority to the County Manager to execute and approve budgetary change requests, administrative actions, or any documents necessary to complete this purchase.

Your continued cooperation is always appreciated.

Sincerely,

BOARD OF COUNTY COMMISSIONERS

RACHEL M. SADOFF, CLERK

Kimberly Powell, Clerk to the Board

/tr

cc: Public Safety

Finance Budget

stryker

Brevard County Powered Systems

Quote Number:

11102891

Remit to:

Stryker Sales, LLC

21343 NETWORK PLACE CHICAGO IL 60673-1213

USA

Version:

1

Prepared For:

BREVARD COUNTY FIRE RESCUE

Attn:

Rep:

Kellie Smith

Email:

kellie.smith1@stryker.com

Phone Number:

Quote Date:

04/14/2025

Expiration Date:

07/20/2025

Delivery Address		Sold To - Shipping		Bill To Acco	Bill To Account	
Name:	BREVARD COUNTY FIRE RESCUE	Name:	BREVARD COUNTY FIRE RESCUE	Name:	BREVARD COUNTY TIMOTHY J	
Account #:	20037529	Account #:	20037529	Account #:	20003361	
Address:	300 ANSIN RD	Address:	300 ANSIN RD	Address:		
	ROCKLEDGE		ROCKLEDGE			
	Florida 32955-5507		Florida 32955-5507			

Equipment Products:

#	Product	Description	Qty	Sell Price	Total
1.0	639005550003	MTS PWLD EXCLUDES FLOOR PLATE	6	\$32,712.44	\$196,274.64
2.0	650705550001	6507 POWER PRO 2, HIGH CONFIG	6	\$31,752.88	\$190,517.28
3.0	6500700011	FOWLER O2 BOTTLE HOLDER KIT	6	\$211.50	\$1,269.00
4.0	6500002156	GUIDE, HEAD END, TOP	6	\$6.89	\$41.34
5.0	650700450301	ASSEMBLY, BATTERY CHARGER	6	\$808.00	\$4,848.00
6.0	650700450102	ASSEMBLY, POWER CORD, NORTH AM	6	\$18.50	\$111.00
7.0	650707000002	KIT, ALVARIUM BATTERY, SERVICE	6	\$564.50	\$3,387.00
			Equipn	Equipment Total:	

Trade In Credit:

Product	Description	Qty	Gredit Ea.	Total Credit
TR-SPCOT-PP2	TR-SYK PCOT TO PP2	1	-\$4,000.00	-\$4,000.00

stryker

Brevard County Powered Systems

Quote Number:

11102891

Remit to:

Stryker Sales, LLC

21343 NETWORK PLACE CHICAGO IL 60673-1213

Version:

Attn:

Prepared For:

BREVARD COUNTY FIRE RESCUE

Rep:

Kellie Smith

Email:

kellie.smith1@stryker.com

Phone Number:

Quote Date:

04/14/2025

Expiration Date:

07/20/2025

Price Totals:

Estimated Sales Tax (0.000%):

\$0.00

Freight/Shipping:

\$5,219.52

Grand Total:

\$397,667.78

Comments:

Brevard County Savvik Member #15450

Complies with minimum Savvik Contract discount. More than one piece of equipment purchased allows for higher bulk discount and will still be compliant

with savvik.

Prices: In effect for 30 days

Terms: Net 30 Days

Terms and Conditions:

Deal Consummation: This is a quote and not a commitment. This quote is subject to final credit, pricing, and documentation approval. Legal documentation must be signed before your equipment can be delivered. Documentation will be provided upon completion of our review process and your selection of a payment schedule. Confidentiality Notice: Recipient will not disclose to any third party the terms of this quote or any other information, including any pricing or discounts, offered to be provided by Stryker to Recipient in connection with this quote, without Stryker's prior written approval, except as may be requested by law or by lawful order of any applicable government agency. A copy of Stryker Medical's terms and conditions can be found at https:// techweb.stryker.com/Terms Conditions/index.html.